-y

10

1

12

13

14

15

16

(=>4 ) B L B ]

~

ARSI ST T —AKE

WAy J1)—2TC
bye
3 A r r o w s
k 9 aY K4
B ® #® #% X
bye
bye
48KT=ZARARY— L1
YIVANIT=ZRIST
bye
bye
= ¥ & F
Y D K
48KT=ZARRY—)L2
bye

bwAaAd—%2XTC

3 A r r o w s
bye
bye
48KT=ZARRY—)L2
48KT=ZARRY— L1
bye
bye

YILANITT=ZRHSTD

BEr: HH6E8A11H(R)

— & B F
WAy >y —2T1C
3—0
b2 e
2—1
HAREEN
2—-1
B AR
3—0
=HiEF
2—-1
WO A —4 > 2TC
. 2—1
Y D K
3—-0
WO A —4 > XTC
3—0

oy b—iay

3Arrows

2—0

4 8KTZRARY—)L1

2—0

4 8KT=RRY—)L1

2—1

ST EA VT )—F RS

WA —4 > RTC

2—0



